15 7047 - 3% [SPG 1.0t £
A 312 14 |n -1 12_[SPCC 0.6~1.0t GURERTEE
‘ +:312 13 [759F ) 1
96,969 st a | b 12 |WiZHSE 8 [SP0 1.0t PRIE:
f f o sm o 73 11 [BiEEH 4 ISPee 0.6t RUBERTEE
S oy 10 [#iR_ 2 [SPCC 0.7t GURE B
— & RE 123 | 13 9 [GHEEET T T M-bivk
2 2 8 &k T SPCC 0.8t GURERITEE
iy o o LL_li-hmyhiE e hn-hivk
TS ° S [6 i I-MFZIMEoT 6 &t =) £l
Sy F “ 4 [6_[ZEEHL 6 [SPCG 0.6~1.6t URERITEE
- 2 = ERET 1_[SPCC 0.7t U E R
= 3 ik T SPCG 0.7t U E 1%
- tha % ﬁﬂ;& 2 [SPCC 0.8t xasyiﬁgﬁwé%
. . xR 1__[SPCC 0.9t R E R
— ‘“[ L W=353 o [No. [B2% TR R T A E T
349 | (490) | A EEIE U603
! \ ——————— i o 1 8 5T B \
ey J)=2/2F T L=
W=T67 R VEBE] 56772 5 (EN)
5Y7.5/1.5 (NG)
st 5 a5 ﬂ Ah-5345mm D=500
@\ 222222222222
é iﬂ%ﬁiﬁ’ié’lf:")l 05 ;
50k 5, Jl 14
© V4 [—[I‘g Y - | | N-F-yIMR | C
- B o B 70
B = B RE 70
: B mw
= |
= — 2 g 0% g
0 — \. =@ B ow R Fay-px | d
— L
- (10 - ‘ 2 = 2T 65
c‘:j E [ —————————— Lrﬂ:ﬁm @]f‘f 0 5),_‘,'31“] 65
W=352 | = 0
5 T || E (V) i —
@D/ ; *HH*ED:450 B
H= : 57 5ke
@ \GD AZAT 470 —Z?):: Lj gi;ﬁg% : :gikg
— —U) DHFEESE : 50ke
(d=! B _ . 2% B3t fyh E Soale




